Fill In The Blanks...

Simultaneous Equation

s (same x coefficient)

Carry out Substitute Check using State
Question S:Stcll- aocrt'? addition or \;\ﬁ:rk y into one \(I,Vu(::r: other both
" | subtraction y equation equation answers
. x+ 3y =13 _ x+y=7 _
xx++3y ; ;3 Subtract | —x+y =7 y=3 xx-l:l—39y=_1133 x =4 tr3=7 . - L3L
3 3x +y =19 3x +y =19 3x —4y =14 _
33xx_+i/ __1194 Subtract | —3x—-4y=14| y=1 3x+1=19 | x=6 | 18—4=14 x:6
y = 5y = 3x = 18 v Y=
. x + 5y =22 B —x+2y =6 _
Ciilyte| A roxaby=s)yes | TURTG | xmz | 248se | DT
Y= 7y = 28 - v V=
_ 2x — 5y = 25 2x — 5y = 25 2x+3y =1 _
22’; +53y __215 Subtract | — 2x+3y=1 | y=-3 | 2x+15=25 | x=5 |10+ (-9) =1 x___53
Y= —8y = 24 2x = 10 v Y=
B —3x+y =10 —3x+y =10 3x+2y =11 _
3;”123’:11? Add | +3x+2y=11| y=7 | -3x+7=10 |x=-1|-3+14=11 X—__71
y= 3y = 21 —3x =3 v V=
x+2y=-7 x—6y=5
x+ 2y =-7 x+ 2y =-7 _ x=-—4
—x—6y=5 = — = — —4—-(-9)=5
X—6y=5 Subtract x — 6y y=-15| " T_ . |x=—4 (\/ ) y=—15

8y = —12




